
P (Z) poly alg

p|q =
(
∂pq

)
(0) =

1

(2πi)
d

Z∫
d
−
z dz

e−z|z z−p zq

Bargman H
2
(Z) =

\ � O (Z)

1

(2πi)
d

Z∫
d
−
zdz

e−z|z
2

z\
DF

< +∞

repro K (z:w) = ez|w

U ν

(
t
b

)
ψ (z) = ez|bψ (z − b)

K action U
k
ψ (z) = ψ

(
k
−1
z
)

deco P (Z) =

µ∑
Nr

+

Pµ (Z) mult-free

ez|w =

µ∑
Nr

+

Kµ (z:w)

hb = 1/ν: ν > 0: dµ
ν

(z) =
1

(2πi)
d
d
−
z dz e−νz|z

weighted Bargman H
2
ν (Z) =

\ � O (Z)

1

(2πi)
d

Z∫
d
−
zdz

e−νz|z
2

z\
DF

< +∞

repro Kν (z:w) = eνz|w

z\ =
1

(2πi)
d

Z∫
d
−
wdw

e−νw|w eνz|w w\


